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Problem 2: (12 points) 

In a nuclear collision an incoming proton has initial velocity of magnitude v
0 

(let's call it +x direction). 
It collides with another proton, initially at rest. After the collision one proton goes off at angle 0 to the 
x axis. The second proton goes off at unknown angle <l>. If the collision is perfectly elastic, in the box 

below write the system of equations that could be solved to find the velocities of both protons after the 
collision and angle <l>. Do not solve. 
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